MODEL EXAMINATION - 2012

HSE | ECONOMICS Total Score: 80
Time: 2% hrs
(Cool Off Time : 15mts)

1. Find the odd one out and justify your answer
BQWIHM HEENBO] OO0 MO OSB3

a. Intelligence,Aptitude, Income, Honesty
enyev), @REI@all, AU@AdIMo, TV IV W

b. Migration, Health, On Job Training, llliteracy
@351@@90, @REOIW o, a@o@eﬂcmoasoggg@ al®luo’leimo, MOHHUO®

c. Simple Bar Diagram, Component Bar Diagram, Pie Diagram, Histogram
avlmiled eniodaw(Wo, oe:s)(moaem(rg’ NIOBALW(N0, BBAIWW(Wo, oo’lcsq)yomo 3

2. Connect Column A with B and C 4
e8080 Ao Bwjo Coymow snimweaqjsyom)e

A B C
Five year Plan 1958 China
AleRUQAUONO alEW] 062alm
Great Leap Forward 1956 Quota
ang eflal Ganodel 105
Trade Policy 1958 Licensing
Q1§0al00 Mo eeaIrmdmulody
Industrial Policy Tariff Self Reliance
QIO M®o ®90%al VIO @) Io
3. Development of infrastructure during the British period can be considered as a 3

positive contribution of the British. Analyse.
(enf15lat BOEMH0RIGM)6M2O® @RSIMUAIM MVUDEO6BRSBIOS Ale:TuMo LAV IW)OS
MOASBOE:0N MoRIAIMWOIW] &@™o. QflUddhelMo 6alQ)d:

4. Calculate Mean Deviation and Standard Deviation for the following distribution. 6
@969 6B0S)OMIO1H63M (anld> 1MVl amcrﬁtsiauc&nm@ag 213 awlaileaumo
qRomBedl WINNEaHMo &6MO)d:.

Class Frequency
0- 10 2
10-20 4
20-30 7
30-40 8
40 -50 4
50 - 60 2
5. List the steps towards making a Project. 2

BB GaORE OQIIBHIMBS AUSIBUD af)9}O)b.



6. Classify the following workers into organized sector and unorganised sector.
@969 6&IS)OMICIBMMN O®IFIRINS®:e8 TVoRISI®m Ga6IRI GRIVOCRISI® GR6IAI

af)MIUNG3 o]0 L35>,

Agricultural Labour, PWD Civil Engineer, School Teacher, Cart Puller.
HBattd 6®091108), PWD oo=Imwad, aiesutd @orbyoals:m, 9mmyaleng] alellesm@oud.

a) What is the difference between this two sectors.
DD E6NE) GAIAIG:S)o MIRIANSS QUM OMVOATT).

b) In your opinion in which sector more employment opportunities should be

created. Why ?
M6BBREYOS GRE]AOQOMIGY aF® GREURIWIRINET &)S)MO HMIFIRIAITVOBBRO3

(TUAO%ﬂ(EcﬂG)m@.OQ)(TO) OYHo6NS ?

7. Green revolution helped India to achieve self sufficiency in food grains. Justify

the statement with your arguments.
BMHUJWIMYEBBEOS D2|03M GaIRIDTE TVIWO aldj0aIO® GMS)ME@IN a0l allgjalo

DHANIOW MVaNIW]af). OD (AIMI®IQAUM MYIVIBHOILBMTMSBS AUIBEBBRUY af)9))db>.

8. Calculate Mean, Median and Mode for the following data.
21)Q16S OHIS)OWIBISSBIN WIQO Dalciuile] 218, alwl@d, ao agarlal &:06Mmd:.

Class Frequency
0-10 10
10-20 15
20-30 30
30-40 38
40 -50 25
50 - 60 16
60-70 9
70-80 7

9. Many Poverty Alleviation Programmes has been implemented in India but still a large
number of people are below Poverty Line. Mention the short comings of Poverty

Alleviation Programmes.
DM BoolEY MBROGRM@TIM WOV ABW®H:U Msaflalosslwig)ens

ag)M@oL)o  BOGIBICOIR) @IOPWSIAIGBOS af)§iRo DEAIP}0 &)SIORIEM).
39013} MBRIBRM ARVTIBHS)OS GaloRIWABUB 2l)enE] B:06mM1B63s:.

10.Construct a Questioannaire to identify the volume of educated unemployment in your

Panchayath.
MeEBE)OS alemoOEmleal all3rMIM@es e®o¢lelleloaw)es alyoals)

@101 2J0l@ymM @) manddlesm allwo GaldBio0lall MQOOIBEH:.

11.Prepare a Frequency Distribution by taking a class interval of 5 for the given data.
@069 6H0S)OMIC1HBM WOQWEd Mmoo %oqp: 03deod 5 ERWISISs 8@
(a1 Im3mUl culd(sSlenu <gensl:mis ©QO0IBE3B>.

51, 57, 50, 59, 68, 62, 65, 60, 54, 53, 52, 45, 61, 64, 48, 69

12.The present day fast industrial growth in China can be traced back to the reforms

introduced in 1978. Substantiate.
6621MW)OS LMD (WOVEWIANSS QAlJAIMOIWE: QAUSB|W) HOVEMo 19781
MSaflee61® alClatd®:0068308 @REM. TVIW)EOCIOE:.



13.0bserve the given data related to the marks obtained by 2 students A & B and
answer the questions given below.

A & B g1 eenz) allayodmdleg)os a0deslom @slnoomacsslss cawgo
Mole:tla] 2j01OS 6ES)OHIBBBIN GaldBy6BBU3EE DTMOO af)PY®)d:.

Average Coefficient of Variation
¥oIUO®] cRlcWaum 1)emoso
A 44 33%
B 50 57%

a) Who is more intelligent. Give reason.
@RI &)S)OTS NNEWIANR. BOVEMo af)9)@ .

b) Who is more consistent. Give reason.
20@®8 EMS)M@IT3 @RYOIEM &)S)O® MAIE® Al)RIBDM)MND). GHOOMODL)D®)H:.

14.Explain any Two measures taken by the Government to improve the agricultural
marketing.
$08al® allalemmo 6@afeals)EmmM@Im nalemeand qufle:cla) 0ens MSalSle:ud

af)®) @) B>

15.Construct a Pie Diagram using the following data.
aj(UOS OBHISOBTICIHEAN WOQI DalEIWla] BB HOAIWD(Wo AUOW).

Mode of Transport Percentage
0®IN® 238Po “®AdMo
School Bus (rSe0y08 enuiqy ) 40
Private Vehicle (mui®o0y a19a0mo) 13
Public Transport (ea0@)0®on®o) 27
By Walking (msam Galos:maId) 20

16.Write Two Examples each for the following.
©269 OHIS)OBIHBINUD) O6MTE PBIADOEMEBBES ) Py@)d>.

a) Conventional Energy b) Non Conventional Energy
AldOMIGO 000 AldOMUCO {@GOIGLER0

17.Calculate the Correlation Coefficient between X and Y
X 90 Yoo ®anlangss ¢£0016alecUm c$:00@anleH1w0f &66neom) .

X 1 3 4 5 7
Y 2 6 8 10 14

18.Calculate Simple Aggregate Price Index for the following data.
amiled @rweng allal qv)aile: HeMCTm)o:.

Base Period Price | Current Period Price
e aflolgal aflel 6008 afldloaw aflel
A 10 15
B 20 22
C 18 20
D 25 27




19.Draw Scatter diagrams showing Positive and Negative Correlation. 2
ealomilglane emmglane cHo0lealamd TSR WWIAILNHS AUJBOAIDE .
20.Analyse the table showing the Demographic indicators of India, China and Pakisthan 4
and write down your conclusions.
O, 6©6alM, alddlMAdMd af)Nn COLRLERBIOS LMIVOLLY TV)ald6BB8)0S alSld
alvodeIMo e21P® MVAMEBBUB ag)Py®)d:
Country Population Annual Growth Density Sex Ratio Fertility
oo KMoy of Popu|ation 2MaILBO® a(©1 Rate
ROAVoEI )OS al)@3ad eandgleild
oBatld USABay @RMVAlI®o mlosee
India
oo 1103.6 1.7 358 933 3
China
06 21D 1303.7 1.0 138 937 1.8
pakisthan | 167 4 25 193 922 5.1
21.Prepare a Seminar Report on the Topic New Economic Policy 1991. 8

1991 62! @B TVIMICT]EH Mo g AflHWOHED ERHMVaIBRIEE] 6@ 6TVAIMIG 016083
®QO0ILE3H>.

22.The difference between the Largest and Smallest value in a series is Known as
8@ eoemlwileal agoalle alely melyaio aggalle a0l @eljaho @EAILNSS QI OTVAEM

23.Correct the following statement if there is any mistake.
2l)AleS 6BIS)OCBIBBM AUIIGBOTIE3 H@QONEETD @ BOTD)S.

Statistics is used in singular sense alone.
MVOOEUYBHOAMN alBo afHh0lalMAOW] M@0 DalEWIUIILE3MD.

24.In New Delhi CNG is used as fuel in Public Transport System. Can you consider this

as a model for sustainable development. Suggest some measures for sustainable

d

evelopment.

1

1

M} OWEBOIRIEE Ha0@N@IN® caelRIRlEs MWLM galcouileamma@ CNG  @rem. o)

mymuale aflermmomla) 8@ BoMyE@esMo? quymale Allé:mmEmIa) Manowlesam

208UN6BRU3 MIBBRUDIBE3H>.

25.Complete the blanks suitably.
aflg)Ealoal GRMEWIRIAIW aldo M@ al)Claflesid.

a

. Table Number

b.
c.

o

—h

o Q

. Stubs

. Unit of Measurement

. Source

esmiled nud

(%3

gy
yemlg
0

(1B V) alles
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